Hardware Guide for P/N 946

6 x 55mm Hex Bolt
#700-13 Spacer

K 6mm Nylock Nut
(2x) 6mm Flat Washers

8 x 20mm Hex Bolt
#700-37 Nut Plate
8mm Flat Washer

(2x) 8 x 20mm Hex Bolts
(2x) 8mm Flat Washer
#700-61 Bar Clamp

Hardware Guide for P/N 946

6 x 55mm Hex Bolt
#700-13 Spacer

K 6mm Nylock Nut
(2x) 6mm Flat Washers

8 x 20mm Hex Bolt
#700-37 Nut Plate
8mm Flat Washer

(2x) 8 x 20mm Hex Bolts
(2x) 8mm Flat Washer
#700-61 Bar Clamp



